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(1-1) sinz 00 (=27 <z < 2m) (1-4) 3sin2: 00 (-7 <z <)
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(1-2) cosz OO (=27 <z < 2m) (1-5) Asin (Tﬂx) O(-A<z<\ D000
(1-3) tanz 00 (r <z < 7) D0DO0000 (OOOO0A N> 0)

EERL:

(2-1) sinz =20000sin(—z), sin(z+7) 0000000
(2-2) cosz=20000cos(—z), cos(z+m) 0000000
(2-3) tanx =200 00 tan(—x), tan(z+7) 0000000

DDDDDDD e = cosz +isinzg 000000000

sin(a + 3) = sin acos 3 + cos asin 8
cos(a+ ) = cosaccos f — sin asin
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(4-1) sin(a — fB) = sinacos f — cos asin 3 (4-3) sin2a = 2sin @ cos «
cos(aw — ) = cosacos f + sinasin cos2a = 2C201S:2Oé —1=1-2sina
tan o + tan 3 tan2a = 7=
n n — tan® «
(4-2) tan(a+ B) = amaTra
1 —tanatan g ) ) )
tan o — tan (4-4) sin® § = =92 cos® § = P
tan(a — 6) = t 2a __ l-cosa
1+ tanatan 8 al” 5 = 1fcosa

005/ 000000Asin(z+a)000000

(5-1) sinx + cosx (5-2) V/3sinz + cosx (5-3) V2sinz —v6cosx
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(6-1) cos2x —cosx=00000 x (D0000<z<2m) 0000000
(6-2) sinz —siny = 3, cosz+cosy=3000000cos(z+y) 0000000
(6-3) tano =+ 000 Otan2e, tan4a 0000000
(6-4) t =tan$ 000 Osina, cosz, tanx 0 t 000000
(6-5) sinz =L siny =13 (0<2,y<7/2) 0000002+y0000000

(6-6) -+ L =22 (0<0<7/2)000000sinfcos00D0ODOO0

sin 6 cos




